1) Classic 3x7 points

Follow classic sudoku rules. Some digits were replaced by
letters, same letter codes the same digit, different letter stands
for different digit.




2) Irregular 3x12 points

Follow irregular sudoku rules. Some digits were replaced by
letters, same letter codes the same digit, different letter stands
for different digit.
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3) Sums 3x12 points

Follow classic sudoku rules. Sums of two adjacent numbers
are given. Digits were replaced by letters, same letter codes
the same digit, different letter stands for different digit.
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